37. Ratios - Profitability
1. Fill in the gaps.

Profitability means measuring profit in relation to a yardstick, e.g. as a percentage of sales revenue. This helps in comparing the performance of firms of different sizes or to evaluate a firm’s performance over __________. It may be important to know the absolute size of a firm’s profit, e.g. £1 million but has that been made from sales of £10 million or £100 million? The key ratios for measuring profitability are profit ______________ (profit as a percentage of sales) and ________________ on _________________ employed, which measures profit as a percentage of the capital invested in the business. Missing words: margins, capital, time, return
2.  Formulae and Calculations A.

2.1 State the formula for the gross profit margin. _________________________________
2.2 Net profit margin measures net profit as a percentage of sales. If a firm with annual sales of £600,000 has a net profit of £84,000, what is its net profit margin?





   _______________________________________________
2.3 JC Co has sales of £120,000 and profits of £12,000. Its capital employed is £75,000. Calculate the company’s return on capital.


___________________________________________________
3.  Match the explanation to the statement.

	 
	Statement
	
	Explanation

	1
	Brital plc has made a return on capital of 16% this year compared with 14% last year
	A
	If margins are too high customers may question the value for money

	2
	“I’m thrilled that our restaurant has made a gross profit margin of 75% this year”
	B
	Some businesses have low profit margins, but still do well because of very high sales revenues

	3
	5 years ago, Marks and Spencer’s net profit margin was double that of Tesco
	C
	ROC should be compared with the interest rate, but high-risk businesses should have v. high returns

	4
	In a year when interest rates were 6%, VB Co had a great year, making an ROC of 12%
	D
	A rise in ROC implies improved financial efficiency and performance of the business

	5
	BJP Co, wholesalers, has a net margin of just 2%
	E
	Gross margin has relatively little significance, because it ignores fixed overheads


4.  True or False?

4.1 If ROC falls below the interest rate, highly geared firms are in very big trouble.
____________
4.2 If the gross margin rises, the net margin and ROC will rise as well.


____________
4.3 Rising margins will lead to rising ROC, if asset turnover is unchanged.

____________
4.4 An ROC of 100% implies that the firm should double in size every year.

____________
5. Formulae and Calculations B.

5.1 A business with sales of £5m and a net margin of 4% pays out a dividend of £250,000 to shareholders. Comment on this practice.__________________________________________________________________________
______________________________________________________________________________________
5.2 ZQ Co has sales of £4.2 million, costs of sales of £2.8m, overheads of £1.3m and corporation tax payments of £60,000.  What is the company’s gross margin? 





   ____________________________________________________
5.3 If a firm with £1 million of sales has gross and net profit margins of 16% and 6% respectively, what are the firm’s overhead costs?


_________________________________________________________________________
37. ANSWERS: Ratios – Profitability
1. time … margins … return … capital

2.1 Gross profit/sales revenue x 100

2.2 14%

2.3 16%

3.1 d

3.2 e

3.3 a

3.4 c

3.5 b

4.1 T

4.2 F

4.3 T

4.4 T

5.1 It’s wrong to pay out more in dividends than the company is making in profits. It drains cash unnecessarily.
5.2 33.33%

5.3 £100,000 (10% of sales revenue)
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